

# FLORIDA ELECTIONS COMMISSION

## \*\* PUBLIC AGENDA RESULTS\*\*

December 3-4, 2025

### Day One – December 3, 2025

---

Roll Call	Joseph S. Van de Bogart, Chairman Kymberlee Curry-Smith John Martin Hayes Rick Joyce Patrick Kilbane Marva Preston  Ed Tellechea, Commission's Counsel	<b>Vote</b>
Approval of August 19-20, 2025 Meeting Minutes	Approved	5-0

---

### AUTOMATIC FINE APPEALS

<b>Case Name &amp; No.</b>		<b>Vote</b>
David Howard FEC 24-111	Motion to find no unusual circumstances. Fine upheld.	6-0
Carlos E. Surita FEC 24-173	Motion to find unusual circumstances. Fine waived.	5-0
Buster Raggs FEC 24-229	Motion to find no unusual circumstances. Fine waived.	6-0
Thomas R. Newman FEC 24-377	Motion to find unusual circumstances. Fine waived.	6-0
Joan Iacono FEC 24-400	Motion to find unusual circumstances. Fine waived.	6-0
Chandler Austin Langevin FEC 25-059	Motion to correct fine. Motion to find no unusual circumstances. Corrected fine upheld. .	6-0 6-0

---

## POST-PROBABLE CAUSE CONSENT ORDERS

Case Name & No.	Vote
Citizens for Advancement of Ocoee FEC 22-094	6-0

## INFORMAL HEARINGS

Case Name & No.	Vote
Christopher Lloyd Duncan, Jr. FEC 20-297	6-0
Tammyette Thomas FEC 21-181	6-0
Anthony Eldon FEC 21-342	6-0
Roy Hardemon (Estate of) FEC 21-369	6-0
Roy Hardemon (Estate of) FEC 22-418	6-0
Dotie Joseph FEC 21-402	6-0
Barbara Watson FEC 21-433	6-0
Tony Nelson FEC 22-006	0-0
	5-1
Patrick Palmer FEC 22-035	6-0

## INFORMAL HEARINGS

Case Name & No.		Vote
Ronnie Eith FEC 22-043	Motion to find a violation of 1 count of Section 106.07(5) [Count 1] and 2 counts of violating Section 106.19(1)(c) [Counts 2-3], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$3,000.	6-0
Joseph C. Carter FEC 22-061	Motion to find a violation of 3 counts of Section 106.143(1)(a) [Counts 1-3], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$3,000.	6-0
Michael Harvey, Sr. FEC 22-063	Motion to find a violation of 1 count of Section 106.19(1)(c) [Count 1], Florida Statutes, and to impose a fine of \$1,000.	6-0
Mike Harvey FEC 23-034	Motion to find a violation of 2 counts of Section 106.19(1)(c) [Counts 1-2], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$2,000.	6-0
Mike Harvey FEC 23-141	Motion to find a violation of 1 count of Section 106.141(1) [Count 1], and 1 count of 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$2,000.	6-0
Mike Harvey FEC 23-315	Motion to find a violation of 3 counts of Section 106.19(1)(c) [Counts 1-3], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$3,000.	6-0
John Kevin Thorn FEC 22-079	Motion to find a violation of 5 counts of Section 106.07(7) [Counts 1-5], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$5,000.	6-0
Kaitlin Noethen FEC 22-107	Motion to find a violation of 3 counts of Section 106.07(7) [Counts 1-3], Florida Statutes, and to impose a \$125 fine for each count for a total fine of \$375.	6-0
Kaitlin Noethen FEC 22-229	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$125 dollar fine.	6-0
Eleazar Melendez FEC 22-163	Motion to find a violation of 2 counts of Section 106.07(2)(b)1. [Counts 1-2], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$2,000.	6-0
Alexis Carter FEC 22-170	Motion to continue.	6-0
Polk County Voters League FEC 22-280	Motion to find a violation of 4 counts of Section 106.07(7) [Counts 1-4], Florida Statutes, and to impose a \$500 fine for each count for a total fine of \$2,000.	6-0

## INFORMAL HEARINGS

Case Name & No.		Vote
NOW PAC of Florida NOW FEC 22-351	Motion to find a violation of 7 counts of Section 106.07(7) [Counts 1-7], Florida Statutes, and to impose a \$500 fine for each count for a total fine of \$3,500.	6-0
Kyle KC Gibson FEC 22-420	Motion to find a violation of 2 counts of Section 106.19(1)(c), [Counts 1-2], and 1 count of violating Section 106.07(7) [Count 3], Florida Statutes, and to impose a \$500 fine for each count for a total fine of \$1,500.	6-0
Kyle KC Gibson FEC 22-446	Motion to find a violation of 2 counts of Section 106.07(2)(b)1. [Counts 1-2], Florida Statutes, and to impose a \$500 fine for each count for a total fine of \$1,000.	6-0
Kyle KC Gibson FEC 23-043	Motion to find a violation of 1 count of Section 106.19(1)(c) [Count 1], Florida Statutes, and to impose a fine of \$500.	6-0
Willanda Holsendolph FEC 23-008	Motion to find a violation of 1 count of Section 106.09(1)(b) [Count 1], Florida Statutes, and to impose a fine of \$1,000.	6-0
George Navarini FEC 23-011	Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes, and to impose a fine of \$500.	6-0
Pierre M. Prime FEC 23-021	Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], 1 count of Section 106.07(5) [Count 2], and 1 count of Section 106.09(1)(b) [Count 3], Florida Statutes, and to impose a \$500 fine for each count for a total fine of \$1,500.	6-0
Peace River Valley Citrus Growers Association PAC FEC 23-033	Motion to find a violation of 3 counts of Section 106.07(7) [Counts 1-3], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$3,000.	6-0
People First PC FEC 23-037	Motion to find a violation of 1 count of Section 106.19(1)(c) [Count 1], and 1 count of Section 106.07(7) [Count 2], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$2,000.	6-0
Anthony Lance Alred FEC 23-068	Motion to continue.	6-0
Blacks for DeSantis PAC FEC 23-152	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a fine of \$1,000.	6-0
Maxwell Herrle FEC 23-179	Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes, and to impose a fine of \$1,000.	6-0

## INFORMAL HEARINGS

Case Name & No.		Vote
Nelson Amador a/k/a Amaro Lionheart FEC 23-260	Motion to continue.	6-0
Patrick Lee Cooper FEC 23-317	Motion to find a violation of 4 counts of Section 106.07(7) [Counts 1-4], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$4,000.	6-0
Gabriela Flores FEC 24-032	Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes, and to impose a fine of \$1,000.	6-0
Leslie Gibbs FEC 24-052	Motion to find a violation of 3 counts of Section 106.07(2)(b)1. [Counts 1-3], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of 3,000.	6-0
Leslie James Gibbs FEC 24-133	Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes, and to impose a fine of \$1,000.	6-0
James F. Kelly, Jr. FEC 24-066	Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes, and to impose a fine of \$1,000.	6-0
Jimmy Backus FEC 24-314	Motion to find a violation of 1 count of Section 106.143(1)(a) [Count 1], Florida Statutes, and to impose a fine of \$1,000.	6-0
<b>EXECUTIVE DIRECTOR'S REPORT</b>		
	Motion to Ratify Annual Regulatory Plan granted.	6-0
	Motion to adopt the Rules Review Summary and Recommendation granted.	6-0
	Dates for 2026 meetings: April meeting dates TBA; summer meeting scheduled for August 26-27, 2026; December meeting dates will be decided in 2026.	n/a

**Day Two – December 4, 2025**

Roll Call  
Joseph S. Van de Bogart, Chairman  
Kymberlee Curry-Smith  
Rick Joyce  
Patrick Kilbane  
Marva Preston  
  
Ed Tellechea, Commission’s Counsel

**PRE-PROBABLE CAUSE CONSENT ORDERS**

<b>Case Name &amp; No.</b>		<b>Vote</b>
Daniel Saracki FEC 22-051	Motion to accept consent order.	5-0
Clint Pate FEC 23-200	Motion to accept consent order.	5-0
Rebecca Thompson FEC 24-136	Motion to accept consent order.	5-0
Steve Pacheco FEC 24-288	Motion to accept consent order.	5-0
Steve Pacheco FEC 24-482	Motion to accept consent order.	5-0
Miami-Dade Residents United PC FEC 24-381	Motion to accept consent order.	5-0
Darryl R. Daniels FEC 24-391	Motion to accept consent order.	5-0
Richard Blonna FEC 25-114	Motion to accept consent order.	5-0
Craig Williams FEC 25-132	Motion to accept consent order.	5-0
Derrick Allen Brantley FEC 25-148	Motion to accept consent order.	5-0

**OTHER MOTIONS**  
**Motion to Dismiss**

Case Name & No.		Vote
Victricia Simmons FEC 24-481	Motion to dismiss granted.	5-0

**OTHER MOTIONS**  
**Motion to Dismiss pursuant to Section 106.25(2), Florida Statutes**

Case Name & No.		Vote
Christopher Proia FEC 23-180	Motion to dismiss granted.	5-0

**OTHER MOTIONS**  
**Motion to Dismiss pursuant to Section 106.25(4)(j), Florida Statutes**

Case Name & No.		Vote
Connell Wise (Estate of) FEC 22-071	Motion to dismiss granted.	5-0
Roy Hardemon (Estate of) FEC 24-024	Motion to dismiss granted.	5-0
Roy Hardemon (Estate of) FEC 25-157	Motion to dismiss granted.	5-0
Jenitza Davila Astacio FEC 24-389	Motion to dismiss granted.	5-0
Edwin Perez FEC 25-119	Motion to dismiss granted.	5-0

**PROBABLE CAUSE DETERMINATIONS**  
**Recommendation to find No Probable Cause**

Case Name & No.		Vote
Jenitza Davila Astacio FEC 25-022	Motion to find no probable cause on violating Section 106.07(2)(b)1., Florida Statutes.	5-0

**PROBABLE CAUSE DETERMINATIONS**  
**Recommendation to Dismiss pursuant to Section 106.25(4)(j), Florida Statutes**

Case Name & No.		Vote
Wellington Economic & Business Political Action Committee, Inc. FEC 21-337	Motion to dismiss granted.	5-0
Gustavo Ortega FEC 23-205	Motion to dismiss granted.	5-0
Steven Meza FEC 24-008	Motion to dismiss granted.	5-0
Franklin Diaz FEC 24-168	Motion to dismiss granted.	5-0
Emily Rodrigues FEC 24-335	Motion to dismiss granted.	5-0
Scott Sieben FEC 24-337	Motion to dismiss granted.	5-0
Rolando (Roly) Gonzalez FEC 24-353	Motion to find probable cause on 3 counts of violating Section 106.143(1)(a) [Counts 1-3], Florida Statutes.	5-0

**PROBABLE CAUSE DETERMINATIONS**

Case Name & No.		Vote
Steven Meza FEC 21-448	Motion to find probable cause on violating Sections 106.07(5) [Counts 1-4, 8 and 23]; 106.19(1)(d) [Counts 5-7 and 10-22]; 106.19(1)(c) [Counts 9 and 26]; 106.19(1)(b) [Counts 24-25], and no probable cause on violating Section 106.07(2)(b)1., Florida Statutes.	5-0
Roy Hardemon (Estate of) FEC 24-045	Motion to dismiss pursuant to Section 106.25(4)(j), Florida Statutes.	5-0
Confidential Case # 1	Results confidential.	n/a